
;+s]t g+= of]hgf tyf sfo{s|dx? of]hgf :yn ljlgof]lht ah]6 ?= >dbfg nfeflGjt hg;+Vof s}lkmot

10 cfly{s ljsf; 345600
1010 s[lif 302400

Df}f/L kfng Joj:yfkgsf] nflu 3f/ df}}/L uf]nf vl/b lq=g=g=kf= ! 172800
cfFksf] lj?jf vl/b lq=g=g=kf= ! 129600

1040 ;xsf/L 43200
Hjfnf ;fgf ls;fg s[lif ;xsf/L ;+:yf4f/f ;'Gtnfsf lj?jf vl/b lq=g=g=kf= ! 43200

20 ;fdflhs ljsf; 3784320
2010 lzIff 544320

g]kfn /fli6o k|fylds ljBfnosf] k'/fgf] lkmN8 Jojl:yt lgdf{0f lrp/L 432000
>L dxfb]jL k|f=lj=sf] lkmN8 lgdf{0f k'jf8fF8f 112320

2030 vfg]kfgL tyf ;/;kmfO{ 2894400
;/;kmfO{sf nflu hgr]tgfd'ns sfo{s|d lq=g=g=kf= ! 43200
/ftfk/ d'xfg e} 1fg]rf}/, Kof/Lkfvf vfg]kfgL dd{t 1fg]rf}/ 172800
gfssf6\6] d'xfg e} sfk|fkfgL vf=kf= lgdf{0f sfk|fkfgL 432000
e]/Lvf]nf d'xfg e} sNkt vf=kf= dd{t sNkt 86400
/ftfkfgL d'xfg e} h'/]nL afx'ghGof bD;Lnf vf=kf= lgdf{0f -s|dfut_ lq= g= g=kf= ! 2160000 s|dfut

2040 ;+:s[lt k|j{4g 43200
k~r]jfhf vl/b sNkt lrp/L 43200

2050 v]ns'b tyf dgf]/~hg lq=g=g=kf= ! 43200
v]ns'b ;fdfg vl/b tyf dgf]/~hg 43200

2060 ;dfj]zLs/0f 259200
ckf+ux?nfO{ cled'vLs/0f tflnd 43200
Psn dlxnfsf] nflu Ifdtf ljsf; tflnd 43200
czQm c;xfo h]i7 gful/snfO{ ;Ddfg sfo{sd 43200
blnt xslxtsf] nflu z;QmLs/0f sfo{s|d 43200
hghfltsf] nflu r]tgfd'ns sfo{s|d sNkt / kfnL 43200

 gnuf8 gu/kflnsf 

gu/ sfo{kflnsfsf] sfof{no
bNnL hfh/sf]6 .

gnuf8 gu/kflnsf j8f g+= ! cGt{ut cfly{s jif{ @)&$.&% df sfof{Gjog x'g] of]hgfx?



ufp;'wf/ cfdf ;d'xnfO{ r]tgfd'ns sfo{s|d sNkt 43200
30 k'jf{wf/ ljsf; lq=g=g=kf= ! 6480000
3010 :yfgLo ;8s k'n emf]=k'= 5616000

j}/Ltfn cgfkfgL sNkt kfnL x'b} l/Dgf ;8s lgdf{0f lq=g=g=kf= ! 3974400 s|dfut

l5kl5k] kfgL rf]r] d6:vgL kf/Lufp x'b} l/hf ;Dd ;8s lgdf{0f lq=g=g=kf= ! 1641600 s|dfut

3040 phf{÷hnljB't lq=g=g=kf= ! 864000
wf}n]vf]nf n3'hnljB't cfof]hgf lgdf{0f-s|dfut_ sNkt 864000 s|dfut

40 jftfj/0f tyf ljkt Joj:yfkg lq=g=g=kf= ! 86400
4060 ljkb Joj:yfkg 86400

b}lj k|sf]kaf6 cfO{kg]{ 36gf lgoGq0f tyf /fxt ljt/0f lq=g=g=kf= ! 86400
50 ;+:yfut ljsf; tyf ;]jf k|jfx / ;'zf;g lq=g=g=kf= ! 222601

5050 :yfgLo tYof+s ;+sng / clen]v Joj:yfkg lq=g=g=kf= ! 86400
j8f sfof{no Joj:yfkg lq=g=g=kf= ! 86400

5080 cGoq juL{s/0f gePsf] lq=g=g=kf= ! 136201
;dk'/s sf]if lq=g=g=kf= ! 136201

hDdf /sd ?= 10918921


